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Sentence Jumbles Questions Overview

Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Sentence Jumbles Questions.

Question

Rearrange the following sentences to form a correct passage. A. Even as Iran recorded 16,169 cases and 988 deaths so
far, it is in Europe that the virus seems to be galloping. B. On Monday, there was just one new laboratory-confirmed case
and 12 deaths reported in Wuhan; outside Wuhan, no new case has been reported from Hubei province for 12 consecutive
days. C. Also, as on March 17, the number of deaths (4,279) in the rest of the world is more than in mainland China
(3,226). D. With 1,08,394 cases reported from outside mainland China as on March 17, there are more people infected
with the novel coronavirus (SARS-CoV-2) in other parts of the world than in mainland China (81,058).

Difficulty : Moderate Average Time: 54 Seconds

Options :
1. ACBD

2. DACB
3. BACD

4. DCBA

Solution

The correct answer is option 4, i.e. DCBA.

1. Sentence D introduces us to the impact of the coronavirus on China and other parts of the world. This will be the
first sentence as the rest of the statements goes on to talk about the numbers regarding the virus/pandemic without
any proper introduction to the context of the passage.

2. Sentence C starts with a conjunction, which means the meaning of the sentence becomes an adjoining point to the
meaning of the first sentence. It goes on to talk about the number of deaths in other parts of the world, eventually
proving again the meaning of the first sentence, which states that other parts of the world are highly affected as
compared to China.

3. Sentence B goes on to talk about how China's containment of the virus is evident due to the fall in the number of
cases and resulting deaths. So, B would appear as the third sentence as it adds more meaning to the entire context
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of the passage.
4. Sentence A concludes with the severity of the European parts that have faced the outbreak of the virus..This
conclusion will make this very statement as the final one in the passage.

This is the correct arrangement as it provides a sequential and fluent form to the entire passage where the context is first
introduced, backed by statistical numbers in the next sentence, followed by China's current situation and finally, the
conditions that are prevalent in other parts of the world.
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